Kepler’s Third Law – Group Activity                                                            UNIV 1301 


Names: ​​​​​​​​​​​​​​​​​​​​​​​​​​______________________________________________________________

 ______________________________________________________________

Recall Kepler's Third Law:  “For any two planets the ratio of the squares of their periods will be the same as the ratio of the cubes of the mean radii of their orbits.” 

Our Moon has a distance of 384,400 km from Earth, and orbits Earth in 27.32 days. What should be a communication satellite’s mean orbital radius, if it is supposed to orbit Earth in 1 day (and thus seem to be in a “stationary” position)? 
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